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General Instructions :
(1) The question paper comprises of two sections, A and B. You are to attempt both the
sections,
(it)  All questions are compulsory.
(iit) There is no overall choice. However, internal choice has been provided in all the three
questions of five marks category. Only one option in such questions is to be attempted.
(iv) All questions of Section A and all qﬁestions of Section B are to be attempted separately.
(v)  Questions number 1 to 6 in Section A and 17 to 19 in Section B are short answer type
questions. These questions carry one mark each.
(vi) Questions number 7 to 10 in Section A and 20 to 24 in Section B are short answer type
 questions and carry two marks each.
(vii) Questions number 11 to 14 in Section A and 25 and 26 in Section B are also short
answer type questions and carry three marks each. :
(viti) Questions number 15 and 16 in Section A and question number 27 in Section B are
long answer type questions and carry five marks each.
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SECTION A
| A

Balance the following chemical equation :

Fe (s) + H,0 (g) > Fe 0, (s) + H,, (g)

frafafad ToEfE Fie & dqfaa Hiee

Fe (s) + H,0 (g) > Fe 0, (s) + H, (g) -

Why is respiration considered an exothermic process ?

YO & SHEY ufma R gEr S o ?

How does the flow of acid rain water into a river make the survival of aquatic life in the

river difficult ?

AN A yafed & ST @ @ AN F g Sfal &




Draw the following diagram in your answer-book and show the formation of image of the
object AB with the help of suitable rays.

R fRU T ARE AT IT-IRae # Wige 3UgH RO H werEd § fam AB
yfafara a1 fo@rRy |
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5. Why is a series arrangement not used for connecting domestic electrical appliances in a

- circuit ?
N fagd WfeEl & 79 wd gHg 3% uRg § i § & @ Srer S 2

6. Out of 60 W and 40 W lamps, which one has a higher electrical resistance when in

use ?

W%WGOWﬁI%W%ﬁﬁﬁ@WﬁQﬁWS@%@W%?

7. Write the chemical formula for washing soda. How may it be obtained from baking

soda ? Name an industrial use of washing soda other than washing clothes. 2

gEq g & ToEfe g fafaw | 3@ afET gt ¥ 59 YR | W ged € 2
CFUS O & Hid wed Qe @ S TE = 3iEfie IuEn fafew 0

8. Give an example of a decomposition reaction. Describe an activity to illustrate such a

reaction by heating. 2

W(W)mmwawwlwﬁmwmaﬁm%
'Eﬁﬁ‘aﬁﬁ@ﬁ%maﬁ%@lmlmmq?ﬁrqumml
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~ 9.

- 10.

11.

Draw ray diagrams to represent the nature, position and relative size of the image

formed by a convex lens for the object placed :
(a) at 2F,.

(b)  between F, and the optical centre O of lens.

et Ior o B W SRR @) v, fRefd ok ST gRs @ v BT o
diget <uise wafs fam & @ ™ R o

(31) o9 & 2F, farg W |

@ o F g 7, R s F5 0 F 99 |

What is meant by the term, ‘magnetic field ? Why does a compass needle show
deflection when brought near a bar magnet ?

e & mﬁwmé?mﬁ(m)aﬁ%ﬁww%ﬁm
a9 W 3 fadeor 9 g @ 2

(a)  Why are covalent compounds generally poor conductors of electricity ?

(b) Name the following compound :

H H

| | _
H—-C—-—C—C—H

I I I

H: 0% 3H

(¢) Name the gas evolved when ethanoic acid is added to sodium carbonate. How would

311

vou prove the presence of this gas ?

(37) weHdsT Aife I fagd & @9 9o (FEes) F9 B § 2

@) frefafaa dife & 9@ fafag .

H H

I I
H—-C—C—C—H

I [ [

H.,0:  H

() 39 9 ﬁm%@q-sﬁmaﬂéﬁzm@m 37FA sm-ﬁ_@_scqvlﬁ?ﬁ
2 | 39 3§ g & sufefq 9 fag 41 2
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13.
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(a)

(b)

(31)

()

What are amphoteric oxides ? Choose the amphoteric oxides from amongst the

following oxides :
' NayO, ZnO, Al,05, CO, H,0
Why is it that non-metals do not displace hydrogen from dilute acids ?
Iyl sifEE 1 RS § 7 e sffewmel # @ Swawd sffews @ oW
HIST

N320, ZnO, A_1203, COz, H20

%mwﬁm%&au@'ﬁwﬁmﬁ@g@#mﬁwmaﬁaﬂﬁ?

Two lamps, one rated 60 W -at 220 V and the other 40 W at 220 V, are connected in
parallel to the electric supply at 220 V.

(a)
(b)

(c)

Draw a circuit diagram to show the connections.
Calculate the current drawn from the electric supply.

Calculate the total energy consumed by the two lamps together when they operate

" for one hour,

a%@ﬁﬂ%wmzzovwsowaﬂi 220V W 40 W&, F 220 VA ferge, syt
@wa‘amﬁamw%t

(37)

@

()

(b)

(30
()

e o
foga emafd ¥ wra forg o oRefaa ST |
wmqﬁ.aﬁﬁm@ﬂﬂéﬁdqgrb%dm?qﬁmf‘maﬂﬁm|

Distinguish between the terms ‘overloading’ and ‘short-circuiting’ as used in domestic

circuits.

Why are the coils of electric toasters made of an alloy rather than a pure metal ?
mm%w.ﬁ‘m’m‘@m’ﬁﬁ%ﬁml
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15. On the basis of Mendeleev’s Periodic Tabl_e given below, answer the questions that follow

the table :

Group | | 3 S o TR R S SRR o VIl
—— .

Oxide | RO | RO | R,0, | RO, | R0, | RO, | R,0, RO,

Hydridel RH | RH, | RH, | RH, | RH, | RH, | RH

3

Periods A B|A B|A  B|A BJA BA B|{A B Transition
l _ : series
o H
1 1-008
9 Li: Be B C N 0] F
6-939 |9-012 |10-81 |12-011 |14-007 {15-999 |18-998
3 Na Mg Al Si- P SR A e
22-99 |(24-31 |29-98 [28-09 |30-974 |32:06 |35-453
4 First  |K Ca Sc Ti A% Cr Mn | Fe Co Ni

series :{39-102 |40-08 44-96| 47-90| 50-94] 50-20| 54-94|55-85 5893 5871

Second Cu Zn|Ga Ge As Se Br
series ;| 63-54| 65-:37(69-72 |[72-59 |74:92 |78-:96 |79-909

5 First |[Rb Sr ' Y Zr Nb Mo Te|Ru Rh Pd

~ series :|8547 |87-62 88-91| 91-22| 92:91] 9594 991101-07 10291 1064
Second Ag Cd |In Sn Sb Te I '

series :| 107-87| 112-40|114-82 [118-69 [121-75 |127-60 |126-90

6 First |[Cs Ba La| Hf Ta W Os Ir Pt
series :|132-90 |137-34 | 138-91| 178-49| 180-95| 183-85 190-2 1922 19509
Second Au Hg | Tl Pb Bi :

(a)

(b)

(c)

(d)

31/1

series :| 196-97| 200-59|204-37 |1207-19 [208-98

Name the element which is in

3" period.

. 1% group and
(ii) VII*" group and 2™ period.
Suggest the formula for the following :
(i)  oxide of nitrogen

“(il) - hydride of oxygen

In group VIII of the Periodic Table, why does cobalt with atomic mass 58-93 appear
before nickel having atomic mass 5871 ? - :

Besides gallium, which two other elements have since been discovered for which
Mendeleev had left gaps in his Periodic Table ?
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(b)
(c)
(d)

(e)

Using atomic masses of Li, Na and K, find the average atomic mass of Li and K and
compare it with the atomic mass of Na. State the conclusion drawn from this
activity.

OR
Why do we classify elements ? _
What were the two criteria used by Mendeleev in creating his Periodic Table ? '

Why did Mendeleev leave some gaps in his Periodic Table ?

 In Mendeleev’s Periodic Table, why was there no mention of Noble gases like .

Helium, Neon and Argon ?

Would you place the two isotopes of chlorine, Cl-35 and Cl-37 in different slots
because of their different atomic masses or in the same slot because their chemical
properties are the same ? Justify your answer.

"“ﬁﬁﬁﬁmwm%mwﬁmﬁrﬁ@ﬁm%mw

- R I I m | 1v v Vi | v VIII
ﬁ. i
HiFdss| R,0 | RO | R0 | RO, | RyO4 | RO, | Ry0, RO,
gegRe | RH | RH, | RH, | RH, | RH, | RH, | RH
amad A B|/A B|A B|/A B|/A B|A B|A B GFguT S
H
1 1-008
5 Lo o Bl s Bic G303 SRR s e
16-939 [9:012 |10-81 [12:011 |14-:007 {15-999 |18-998
3 Na [Mg |Al T B S cl
22:99 [24:31 |29-98 |28:09 |[30-974 |32:06 |35-453
4 999 K Ca Sc Ti Vv Cr Mn | Fe Co Ni
ot} - [39-102 |40-08 | 44-96| ‘47-90| 50-94| 50-20| 54-94|55-85 5893 58-71
fgdra Cu Zn|Ga Ge As Se Br '
guft - | 63-54| 6537|6972 |72:59 |74-92 |78:96 |79-909
5999 |Rb |Sr Y Zr| Nb| Mo Te|Ru Rh  Pd
o} - |85-47 [87-62 | 8891 91-22| 9291 95-94 99/101:07 10291 106-4
fedi Ag| cCd|n Sn Sb Te I
Syoft - | 107-87| 112:40(114-82 |118:69 |121-75 |127-60 |126-90
6 Y99 |Cs |Ba La| ~Hf| Ta W Jos - Ir - Pt
goft - [132:90{137-34 | 138:91| 178-49| 180-95| 18385 190-2 1922  195-09
fgara Au| Hg|T Pb Bi
gt - | 196-97| 200-59204-37 {207-19 |208-98
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What is meant by dispersion of white light ? Describe the formation of rainbow in

the sky with the help of a diagram.

What is hypermetropia ? Draw ray diagrams to show the image formation of an
object by :

(1) Hypermetropic eye :

(ii) Correction made with a suitable lens for hypermetropic eve.
_ OR '

Giye reasons for the following : h
(i)  Colour of the clear sky is blue.
(11) The sun can be seen about two minutes before actual sunrise.

(iii) We cannot see an object clearly if it is placed very close to the eyes..

What is Presbyopia ? Write two causes of this defect.

]




(31) eI SERTT o WETOT ¥ w8 7 i ) werer § S H sy ae
& A Fife |
(a) deefr S @ g @ 7 FRr sl ) memal o Fe it 6 e &
Sl & T TEET
(i) EEEE 2 gW 4 B
(i) BYEw ©W FN SR QY 9T S WY 89 W
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SECTION B
AT &
17. Which one of the following is a renewable resource 7 !
Matural gas, Fetroleum, Ground water, Coal
fefefas § & i FdEty e 8 2
18. What is the effect of DNA copying which is not perfectly accurate on the reproduction
process 7 1

L1 2 I 83 e e e o s e O 2 L 9 T 1 e 1 3 s O A

19. How do autotrophs oblain CO, and N, to make their food ? 1

AN S S A % fau co, wAT N, # Wi s € 7

B3

20, List any four characteristies of biogas on account of which il is considered an ideal fuel,

TG Y HE AR (A H Ieeng S SEE SR 36 U erey! fa e S
#

21. [hiscuss one limitation each [or the extracting of energy from :
ta)  winds

thy  tidas, 2

3141 2 RTH0:



22.

23.

24,

25.

26.

27,

311

Freifafad & e ¥ ol o@ FE S - G o e S

(30 T '

(#) =R

Write one function each of the following components of the transport system in human
beings : . : 2
(a) Blood vessels .

(b)  Blood platelets

(c) Lymph

(d) Heart

qeg ¥ ggq 47 & fefafed wea @1 e-ws &9 fafau .

(37) ®feR afeehnd

@) T fomarg

() e

() &=

Name one sexually transmitted disease each caused due to bacterial infection and
viral infection. How can these be prevented ? : 2

AfiTe FER0T R B AT U AW SfAd S0 a4 U fN] S SEEv BN e
el T & AW faf@e | 3 UM R ] S ST GFAT 8 2

What are fossils ? What do they tell about the process of evolution ? 2

sfered 1 8 ¢ ? T faE e F g6y # @ Smed ww ek g 2

How is ozone formed in the upper atmosphere ? Why is damage to ozone layer a cause of
concern to us ? What causes this damage ? : 3

qlgHvsm%w{{wﬂTﬁaﬁ@?@a‘—lﬁ’I%7aﬂtrﬁ:fqlaﬁaﬁram o o= &
ﬁwaﬁré?sﬂaﬁrmww%?

How are oxygen and. carbon dioxide transported in human beings ? How are lungs _
designed to maximise the area for exchange of gases ? : 3

g # 3ffedis 991 FEq SRSiFEe # Uaed 69 YR gar 2 7 U4 & fafy
F fau prpe & fesea o siftaw e &9 woEISE e § 7 E '

(a)  Draw the structure of a neuron and label the following on it :
Nucleus, Dendrite, Cell body and Axon
(b) Name the part of neuron :

(i) where information is acquired. -
(i1) through which information travels as an electrical impulse. 6

OR

10




(a) - What is (i) phototropism and (ii) geotropism ? With labelled diagrams describe an
activity to show that light and gravity change the direction that plant parts grow in.

(b)  Mention the role of each of the following plant hormones :
(i)  Auxin
(ii) . Abscisic acid
(37) dfeifven & S @ a7 Eee 39 W faefatad @ Amifed S
e S, FHE, FE FE A AR
(@) df=ifvs & 39 97 51 9w fafew .
@) R g U @t St #
. i) R B geAd frq smam # Aifa T S §

s {
(37) ci)mwtii)wﬁw%%?maﬁ@ﬁm@m
UH fRarRed &1 Ui HIVT St 98 S 81 i Y& 991 e 9ey & gfg A
T # fewm # ofEfia & 2 -
@) frefafad w_T W @ it fafew
(i) 3T
(i) ufeafas v
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General Instructions :
(i) The question paper comprises of fwo sections, A and B. You are to attempt both the
- sections. '
(i1)  All questions are compulsory.
(iii) There is no overall choice. However, internal choice has been provided in all the three
questions of five marks category. Only one option in such questions is to be attempted.
(iv) All questions of Section A and all questions of Section B are to be attempted separately.
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questions. These questions carry one mark each.
(vi)  Questions number 7 to 10 in Section A and 20 to 24 in Section B are short answer type -
" questions and carry two marks each.
(vii) Questions number 11 to 14 in Section A and 25 and 26 in Section B are also short
answer type questions and carry three marks each.
(viii) Questions number 15 and 16 in Section A and question number 27 in Section B are
long answer type guestions and carry five marks each.
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(i) HT 3 & FIT G&A 7 § 10 3K AT T F I G 20 T 24 & F¥H q-q 3B
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SECTION A
AT A

1. OGut of 60 W and 40 W lamps, which one has a higher electrical resistance when in use ? 1

méweowaﬁ?mw%aﬁrﬁﬁmﬁﬁmaaﬁwmé?

2. Why is a series arrangement not used for connecting domestlc electrical appliances in a

circuit ? 1

ﬁaﬁuﬁﬂfuﬁwwmws%v&wﬁéﬁwﬁﬁﬁaﬂmw?

3. Draw the following dlagram in your answer-book and shuw the formatwn of image of the
object AB with the help of suitable rays. . 1

oy -

el
d

3172° 2




e for MU sRE W ol Sui-ufe H wiver Suges fewll &t wemdr ® faer AB
F1 yfafad a9 @R |

4. IHow does the flow of acid rain water into a river make the survival of aquatic life in the
river difficult ?

Wﬂmwwwmﬁﬁmﬁw%ﬁﬁ%ﬁﬁﬁﬁm
3T = & St @ 2

5. Why is respiration considered an exothermic process ?
YIEA H SR WA o wer S 2 2
6. Balance the following chemical equation :

RSO, — 220 5 Fe, 0, + 80, + 50,

frfafaa Teafe wiemr & @qfaq #ivT
TRH HAT
FeSO, —————— Fe,0, + SO, + SO,

7. Draw a diagram to show the magnetic field lines around a bar magnet. List any two

properties of magnetic field lines.
frdt B ges & IR AR gEEE &7 W@el & fen & fau e tefe s |
e & W@t F FE O A |

8. Draw ray diagrams to represent the nature, position and relative size of the image
formed by a convex lens for the object placed : 2

(a) at 2F1‘

(b)  between F; and the optical centre O of lens.

fordlt 3ve o g w4 wfaferel @ yefa, fafq o smifes ORs &t S&w & sma
diver guiee siefs fova & w@r T @

(37) <o & 2F, fag T |

@) " F g Fy 3R TS % 0 F @9 |

9. Give an example of a decomposition reaction. Describe an activity to illustrate such a
reaction by heating. 2

faas (3ues) Afufmar &1 te I fafgu | W e ) ud R aifufE &
T o e & fau % uw GRea & v S |

31/2 3 P.T.0:



10.

11.

12,

13.

14.

Write the chemical formula for bleaching powder. How is bleaching powder prepared ?
For what purpose is it used in paper factories ?

e UREl & TuEe 93 fafau | i uRet @ R yER e S g 2 &

T F FeRfEl § =ifer ueeR R e % fau swE g@ar @ 2

Name two metals which react violently with cold water. Write any three observations you
would make when such a metal is dropped into water. How would you identify the gas
evolved, if any, during the reaction ?

< U ugel & W fafge st 32 s § fq <im ifufrr w € | U R i
ﬁaﬂﬁsmaﬂaqmmdﬁéﬁhﬁaﬂmlﬂﬁﬁfﬂmf{aﬁ%ﬁﬁmﬂ@ﬁ
2, d Y IS YgEE W F4 ?

(a) Why are covalent compounds generally poor conductors of electricity ?

(b) Name the following compound :

H H
I I
H—C—C—C—H
I I I
H O H
(c) Name the gas evolved when ethanoic acid is added to sodium carbonate. How would

you prove the presence of this gas ?
(37) weHAST Aifs W fagh & @9 s (F9es) & 8 § 2

(@) freafafed difte &1 99 fafe .

H H

| [
H—C—C—C—H

I I I

1 S o R |

(¥) 39 19 & 99 fafEu St Sifeay F@He W udHEs 3 2o § 39T ot ¢ |
T 39 19 & Iufeld +9 fag =41 ?

(a)  Distinguish between the terms ‘overloading’ and ‘short-circuiting’ as used in domestic

circuits.

(b)  Why are the coils of electric toasters made of an alloy rather than a pure metal ?

(37) e wRudi & def § ‘sifqumer qur wgusd’ wd # 9% FifSw |

@) fogq SRl & a9 sEEEl (FEd) H YS9 9 7 g fE fagag @
T S @ 2

Two lamps, one rated 40 W at 220 V and the other 60 W at 220 V, are connected in
parallel to the electric supply at 220 V.

{a) Draw a circuit diagram to show the connections.

(b)  Calculate the current drawn from the electric supply.

()  Calculate the total energy consumed by the two lamps together when they operate
for one hour.

31/2 4
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aﬁﬂﬂﬁq&mﬁmzmvwwwaﬁt z20\i'1H60W%1 F1 220 v F o smfi
F Ud w H Ser T E |

(3 W gane ® feEn & fag ooy sma @ﬁm |

()
()

15. (a)

" ()

(a)

(b)

(1)

(=)

(1)

(@) .
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fogq emyfad ¥ W fogq 9 oiefad SN |

o A § O A g T R § STw g Sl aReed S |

What is meant by dispersion of white light ? Describe the formation' of rainbow in the

- sky with the help of a diagram.

What is hypermetropia ? Draw ray diagrams to show the image formation of an object
by :
(i) Hypermetropic eye

(i) Correction made with a suitable lens for hypermetropic eye. 5
e um
Give reasons for the following :
(i)  Colour of the clear sky is blue.
(ii) The sun can be seen about two minutes before actual sunrise.
(ii1) We cannot see an object clearly if it is placed very close to the eyes.
What is Presbyopia ? Write two causes of this defect. 5
TG Y % FEUUT ¥ I ANE ? 2 M@ & Gerddl § S H gRey
g4 & gui9 FHifST |
defef QW @ Blar @ 7 fer M@l # wewar § e ofifefadl § e &
sfdferar &1 a1 fe@Ry -
() Qg Y I A7 TN
(i) IUGH 9 ZW LHGE AT AT F HWEA gH W
_ Aqgar
frafafaa & fau sru fafee -
() TS MV & T FHrew g g |
Gi)y Yd & arefad 3¢9 BN F gHg § T ©f e ted & g femr e o
Bl

Gii) AfE fREt fom 1 3 % Sgd e o ST @ 3§ WE AE Q@ ST Gk |
S-gRefEar W @41 2T @ 7 39 A % o &Ny fafeu |
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16. On the basis of Mendeleev’s Periodic Table given below, answer the questions that follow

the table :
Group | II 11 v A% Vi VIl VIII
% . ]
Oxide R,0 RO R,0; | RO, | R,O; | RO; | R,0, RO,
Hydride| RH RH, HH3 RH 4 -RH3 RHz RH
PeriodsjA - BlA~..BiA . BJA. . .BjA .Bl|A 'BlA :B Transition
l ' series
H
- 1-008
5 Li‘ ' |Be’ |B c N |0 F
6-:939 |9-012 [10-81 |12-011 |14-007 |15-999 |18-998
= INa Mg |A Si p s cl
22-99 (24-31 |29-:98 |28:09 |30-974 |32-06 |35-453
4 First  |K Ca Sc Ti A% Cr Mn | Fe Co Ni
series : |39-102 |40-08 44-96| 47-90| 50-94| 50-20| 54-94|55-85 5893 5871
Second Cu Zn|Ga Ge = |As Se Br
series :| 63-54| 65-37(69-72 |[72:59 (7492 |78:96 [79-909
5First |[Rb  |Sr y| 7| Nb| Mo| TefRu R Pd
series :|85:47 |87-62 88-91f 91-22| 92-91] 9594 99(101-07 10291 1064
Second Ag Cd |In Sn Sb Te o
series :| 107-87| 112:40/114-82 [118-69 |121-75 |127-60 |126-90
6 First |Cs Ba La Hf Ta A Os Ir Pt
series :1132-90 |137-34 | 138:91| 178-49| 180-95| 183-85| 190-2 192-2 195-09

Second Au Hg | Tl Pb Bi
series :| 196-97| 200-59|204-37 1207-19 |208-98

(a) Name the element which is in

(i) I** group and 3™

period.
(i) VII* group and 2" period.

(b)  Suggest the formula for the following :
(i)  oxide of nitrogen .

(ii) hydride of oxygen

(c) In group VIII of the Periodic Table, why does cobalt with atomic mass 5893 appear

before nickel having atomic mass 58:71 ?

(d) Besides gallium, which two other elements have since been discovered for which

Mendeleev had left gaps in his Periodic Table ?




(e) Using atomic masses of Li, Na and K, find the average atomic mass of Li and K and
compare it with the atomic mass of Na. State the conclusion drawn from this
activity. '

OR

{a) Why do we classify elements ? :
(b)  What were the two criteria used by Mendeleev in creating his Periodic Table ?
(¢)  Why did Mendeleev leave some gaps in his Periodic Table ?

(d) In Mendeleev’s Periodic Table, why was there no mention of Noble gases like
Helium, Neon and Argon ?

(e) Would you place the two isotopes of chlorine, Cl-35 and Cl-37 in different slots
- because of their different atomic masses or in the same slot because their chemical
properties are the same ? Justify your answer.

ﬁaﬁﬁmwmimwwﬁmﬁ@ﬁm%mm

e I I I 1A% Vv VI VII VIII
- ry
Hqure| R,0 RO R,0; | RO, | R,0; | RO; | R,0, RO,

gee™e | RH | RH, | RH, | RH, | RH, | RH, | RH

Jad (A B|A BA B|{A B|A B|A B|A B Wﬁ'ﬂﬂ’

_ |
! 1-008
: fi  “Be-uiB e AINT - lo F
6:939 [9:012 [10-81 [12:011 |14:007 |15:999 |18-998
» Na (Mg |Al Si Pois o
92:99 (24:31 [29-98 [28:09 |30-974 [32:06 |35-453
4999 |K  [Ca ~ Sc Ti V| "Crl Mn|Fe - Co. ' Ni
Uit + |39-102 4008 | 44:96| 47:90| 50-94] 5020 54-94|55:85 5893 5871

rﬁ_ﬁl.?ll Cu Zn|Ga Ge As Se Br
Juft . | 63-54| 6537|6972 |72:59 |74-92 |78-96 |79-909

5399 | Rb Sr b Zr Nb Mo Te|Ru Rh Pd

; QTITﬁ; 85-47 |87-62 88-91| 91-22| 92:91] 95-94 99(101-07 102-91 106-4
IFGIE Ag Cd |In Sn Sb |Te I
uft . | 107-87| 112:40|114-82 {11869 |121-75 |127-60 |126:90

6 Y949 |Cs Ba La Hf Ta W : Os o Tr Pt
*ﬁﬂ'ﬁ - 1132-90(137-34 138-91 178-49] 180-95| 183-85 190-2 1922 195-09
i%cliq Au Hg |T1 - Pb Bi
ot

196-97| 200-59(204-37 |207-19 |208-98
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17.

18.

19.

20.

21.

22.

23.

24.

SECTION B

What is the effect of DNA copying which is not perfectly accurate on the repmduction
process ?

S ufRar § DNA SfaEE # deds F qolar @ 7 @9 @ o v g @ 2

How do autotrophs obtain CO, and N, to make their food ?

@A S A9 FH % fAT co, du N, B OTRa FH oFd ¢ 2

Firewood is our conventlonal fuel. List any four reasons for replacing it by the alternate
sources of energy.

SAH-AHE BN TOITE TEH 2 | T e & d%ieus Eidl gR Yaerad & #ie
IR Frul fafEy | '

Discuss one limitation each for the extracting of energy from :

(a)

(b)

winds

tides.

fef
(37)
C))

fgd § 9% 4 o I & F TH-TH G & faea=q Fife .

e
SAR

List any four characteristics of biogas on account of which it is considered an ideal fuel. 2

AAE F R TR faivaell @ Swog iU 5 R0 38 UE 3weyl $99 O S

21

Name any two sexually transmitted diseases. What advice is given to prevent them ?

éﬁmwmaﬁmﬁﬁ@ﬁﬂﬁ%wmwﬁaﬁ%mww
fear Srar @ 2

What are fossils ? What do they tell about the process of evolution ?

Sared = B € 2 T fae wEW & d@ey ¥ g S W e 8 2

Write one function each of the following components of the transport system in human

beings :

(a)
(b)
(c)
(d)

31/2

Blood vessels
Blood platelets
Lymph

Heart

P.T.O.




yqE ¥ ggd 99 & faefafad gesl &1 te-us &3 fafan

(37)
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)

SfeR arfgenrd
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25. Write any three differences between Aerobic and Anaerobic respiration.

T 3N FETIET TEEA & A9 FE A SR fafEn |

26. How is ozone formed in the upper atmosphere ? Why is damage to ozone layer a cause of
concern to us ? What causes this damage ?

JEIUEE & HUU AN H SIS FW St 8 7 fSA Wa @ &@fa gAR faw famw @
fowy o= 2@ 2 39 &fd &1 FRoT ¥ 7 2

27. (a)

(b)

(a)

(b)

(31)

()

31/2

Draw the structure of a neuron and label the following on it :
Nucleus, Dendrite, Cell body and Axon

Name the part of neuron :
(i)  where information is acquired.

(i1) through which information travels as an electrical impulse.

OR

What is (i) phototropism and (ii) geotropism ? With labelled diagrams describe an
activity to show that light and gravity change the direction that plant parts grow in.

Mention the role of each of the following plant hormones :
(i)  Auxin
(ii) Abscisic acid :
dffe & g @ oy dive 39w frafatad s amifea Fife
dfeRIfE & 39 9n % 99 fafaw .
() v guAnd Iqfera # S €
Giy TS99 g guad faga emam @ wifq T @l € 1
AYAl

10
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¢ Please check that thls question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 27 questions.

‘e Please write down the serial number of the question before attempting it.

o FWN ST A W AT H KT U8 11 €

. m—wqa@%aaaﬁaﬂtﬁqwaﬁgwﬁwmmmwwmﬁa@|
o FESERAF T IT-TH 79N

o FHUA T F IW @Al YE HA § Tedl, T W FAH 7@ fad |

SCIENCE (Theory)

fasm (Jgf~s)
Time allowed :2—;— hours

ﬁr&zﬁiﬁw:% gUe ' . HFTH 3F 60

Maximum Marks ;60

General Instructions :

(i) The question paper comprises of two sections, A and B. You are to attempt both the
sections. .

(it)  All questions are compulsory.

(iii) There is no overall choice. However, internal choice has been provided in all the three
questions of five marks category. Only one option in such questions is to be attempted.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v) Questions number 1 to 6 in Section A and 17 to 19 in Section B are short answer type
questions. These questions carry one mark each.

(vi)  Questions number 7 to 10 in Section A and 20 to 24 in Section B are short answer type
questions and carry two marks each.

" (vii) Questions number 11 to 14 in Section A and 25 and 26 in Section B are also short
answer type questions and carry three marks each.

(viit) Questions number 15 and 16 in Section A and question number 27 in Section B are
long answer type questions and carry five marks each.
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(@)

(it)

(i11)

(iv)

(v)

(vi) .

(vit)

~ (viii)

s'wmwa?a?amﬁ 9T 37 3K 97T 7, ¥ gt T # 1 ames A w % g
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g7 T & |
WWa{aﬁrmaa}mﬁwﬁ%mgﬁvmmwwmﬁf
YT 37 & YVT G 18 6 3K YT T F YT G 17 T 19 F ¥T B2 IT I
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T o & YT G 7 T 10 X UT T F T3 GET 20 § 24 F T 22 I
& 2 I a8 I

YT 3 F YT G 11 T 14 FR 9T T F J¥T T 25 3K 26 F YT -l
HF & B IV a9 8 |

9T 3 & FIT G 15 3K 16 K T T F FIT G&IT 27 F FVT Gg-Gid . HF

& 3N o= I g &

SECTION A
T A

1. How does the flow of acid rain water into a river make the survival of aquatic life in the

river difficult ? -

Wwﬂwm%mqﬁﬁméw%ﬁﬁﬁamsﬁa}ﬁ

IaEifaar &ed 4 & S @ 2

2. Balance the following chemical equation :

= -

MnO, + HCl - MnCl, + Cl, + H,0

[ (oW =3

GRS

fgd ToMEe SHiEm & dqfad SN

MnO2 + HCI —» MnCl2 + Ci2 + H20

Why is respiration considered an exothermic process ?

aEH & SR AT F4 HET S 8 2

31/3




Why is a series arrangement not used for connecting domestic electrical appliances in a

circuit ? : 1
W] foga afEl & 9 s gug 3% ufvg # Juien § =& 9@ Ser S 2
Out of 60 W and 40 W lamps, which one has a higher electric;al resistance when in
use ? : 1
YA % WEI 60 W AR 40 W F Wi ¥ ¥ fpgen fagq wiady sifye dar @ 2
Draw the following diagram in your answer-book and show the formation of image with
the help of suitable rays. : 1
ARG ;;
T few U s @ ST IT-Yfks § wieet Iugs Rl @ wemar 9 sfdfae &
g1 feErRT | : _
¢ F ?
Draw ray diagrams to represent the nature, position and relative size of the image
formed by a convex lens for the object placed : ' 2
(a) at 2F,.
(b)  between F, and the optical centre O of lens.
fredt 3Ud o9 sR 94 wfafarei S wpfa, fefa ik smifts aEs & waw o sma
i quisy wefs foer o w@r T g
(37) < & 2F, fag W |
(@) 9 & g Fy 3 T FF 0 F a4 |
31/3 Gols 3 P.T.O.




8. Draw a diagram to show the magnetic field lines around a current carrying solenoid.
What do you interpret from the pattern of the field lines 7

frdt amER oo & = ofR g an el @ ken % fw Wit
IR | 89 @Rl & 39 Ued ¥ 39w fr=d fawed @

9. What is the chemical formula for Plaster of Paris ? How is it prepared ? State the
common and the chemical names of the compound formed when Plaster of Paris is mixed

with water.

R 3G IR F TIEE 7 F g 2 3H kY a9 W 2 2 Wel 36 Ui
g § AR W AT gt A @ 9ERe SR qeEte am fafen |

10. Give an example of a decomposition reaction. Describe an activity to illustrate such a

‘reaction by heating.

ﬁﬁﬂ(wmm)ﬁ%mmﬂmxmmmﬁﬁq|Wﬂ$ﬁqzﬁﬁ&ﬁsﬁﬁm%
AN F RER F fow #% wF Rusan & avle @ifwe

11. (a) Why are covalent compounds generally poor conductors of electricity ?

(b} Name the following compound :

H H
M 2ot
T
(c) Name the gas evolved when ethanoic acid is added to sodium carbonate. How would

you prove the presence of this gas ?

() weEds i S fagq & €9 e () #i e § 2

@) frefafaa @i & 9@ fafa
H I
I |
& RN o MR o PN ¢ TR -
E gl )
H O -H
(H) ﬂ{@'wmnﬁ%qwaﬁwaﬁ%ux@m%amgmqqﬁwﬁﬁ

21 9y 3 9 @ Iufefa &9 fag e 2

31/3 4
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12. (a) Name a metal for each case :
(i) It does not react with cold as well as hot water but reacts with steam.
(i) It does not react with any physical state of water.

(b) ~ When calcium metal is added to water the gas evolved does not catch fire but the
same gas evolved on adding sodium metal to water catches fire. Why is it so ? 3

(37) ﬁ%ﬁqmnﬁmw%ﬁqumﬁaﬁrwm@

) Z[E"—TEﬁB‘J@ sﬁfé‘aﬁiqé}waaﬁaﬁmw%mmﬁﬁm
HA 2 |
(i) I8 S & e o sitfaes srarer 9 sfufrar a8 & |

(@) @ Hfeeram g H S F S S @ A IO T W @S, Weq dfea
HIg S § ST WS A N W 9 33t ¢ | O b g @ 2

13. Two lamps, one rated 40 W at 220 V and the other 100 W at 220 V, are connected in
parallel to the electric supply at 220 V. '

(a) Draw a circuit diagram to show the connections.
(b)  Calculate the current drawn from the electric supply.

(c)  Calculate the total energy consumed by the two lamps together when they operate
: for one hour. 3

q i RFF SHEAE 220 V W 40 W SR 220 V W 100 W, @ 220 v @ FEm
aYfa ¥ wvd w9 A Sier T R

() e e W@ faw ¥ fw TR wite @
@) fogd omgfd @ i e ow fefaa wiT |
€)) E_Wﬁﬁﬁﬂﬁmﬁm%ﬁdqgm%&w?'qi’i%rﬂdaﬁf&ﬂzi

14. (a) Distinguish between the terms ‘overloading’ and ‘short-circuiting’ as used in domestic

circuits.

(b)  Why are the coils of electric toasters made of an alloy rather than a pure metal ? 3

(31) ﬁqqﬁqﬁ%éﬁﬁ‘mm’m‘mﬁm’ﬁﬁ%mq|

@) . foed M%Wm(mﬁ)aﬁﬂ@wﬁqwmﬁaw@w
oA S ? 2
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15. On the basis of Mendeleev’s Periodic Table given below, answer the questions that follow

the table :
Group | | I I W v VI | vi 111
Oxide | R,0 RO R,04 RQ2 R,0; RO, 'RQO,] RO,
Hydride] RH | RH, | RH, | RH, | RH, | RH, | RH
Periods |A BlA BlA BlA BlA BlA B A B Transition
i ; : - series
H
1 1-008
2 Li . |Be ' |[B C N 0. - . |F
6-939 [9-012 |10-81 |12-011 |14-007 {15-999 |18-998
3 Na |[Mg |Al Ssi (P S Cl
© 12299 (24-31 [29-98 {28:09 |30-974 |32:06 |35'453
4 First (K Ca Sc Ti A% Cr Mn | Fe Co Ni

series :|39-102-140-08 4496 47-90| 50-94| 5020 54-94|55-85 5893 5871

Second Cu Zn|Ga Ge As Se Br
series :| 63-54| 65-37|69-72 |72-59 (7492 |78:96 [79-909

5 First '|Rb Sr Y] v Zr Nb Mo Tc|Ru Rh Pd
series :{85-47 |[87-62 |. 8891 91-22| 92:91| 9594 991101-07 10291 1064
Second|”  Ag| - Cd|In - Sn Sb: |Te |k .
series ;| 107-87| 112-40[114-82 |118-69 |121-75 |127-60 |{126:90

6 First |Cs Ba Tal -HE Ta w| Os Ir Pt
series :{132-90 [137-34 | 138-91| 178-49| 180-95| 183-85 1902 1922 195-09
Second| Au| Hg|Tl Pb Bi

series :| 196:97| 200-59|204-37 [207-19 |208-98

(a) Name the e'leme‘ﬂt which is in
(i) IS group and 3" period.
(i) VII*" group and 2" period.
(b)  Suggest the fdnnula for the followihg :
(1) oxid_e of nitrogen
(ii) hydride of oxygen

(c)  In group VIII of the Periodic Table, why does cobalt with atomic mass 58:93 appear
before nickel having atomic mass 5871 7

(d) Besides gallium, which two other elements have since been discovered for which
Mendeleev had left gaps in his Periodic Table ? %

31/3 ' 6




(e)

(a)
(b)

(d)

(e)

Using atomic masses of Li, Na and K, find the average atomic mass of Li and K and
compare it with the atomic mass of Na. State the conclusion drawn from this
activity.

- OR
Why do we classify elements ? . :
What were the two criteria used by Mendeleev in creating his Periodic Table ?
Why did Mendeleev leave some gaps in his Periodic Table ‘?.

In Mendeleevs Periodic Table, why was there no, mentlon of Noble gases like
Helium, Neon and Argon ?

Would you place the two isotopes of chlorine, CI-35 and Cl-37 in different slots
because of their different atomic masses or in the same slot because their chemical
properties are the same ? Justify your answer.

I & T AR Ed gRl ¥ MuR W frefafed YA ¥ W e -

e I I m | Iv \Y VI | vio VIII
——— 4
sffeargs| R0 | RO | R,0; [ RO, | R,0, | RO; | R,O, RO,
gegRs | RH | RH, | RH, | RH, | RH, | RH; | RH
dmad |A B/A B/A B|A B|/A B|A° B|A B AT o
H
;i 1.008
I8 Liil . ABass B 5 N 5|Oihenofls
6939 {9012 [10-81 |12-011 [14-007 |15-999 [18-998
g Na |Mg |Al Si P 8 g
22-99 |24-31 |29-98 [28:09 [30-974 |32:06 |35-453
4 399 |K Ca Se Ti A% Cr Mn | Fe Co '+ -Nj
St - |39-102 [40-08 | 44.96| 47.90| 50-94| 50-20| 5494|5585 5893 5871
IEGIE Cu Zn|Ga Ge As Se Br
gut - | 63-54| 65-37(69-72 |72 59 74-92 |78-96 |79-909
5999 |Rb Sr Y Zr Nb Mo Te| Ru Rh Pd
guft - |8547 |87-62 | 8891 91-22| 9291 95-94 99/101-07 102:91 106-4
EGIE Ag| Cdl|In Sn Sb  [Te I
St - | 107-87| 112-40{114-82 11869 [121-75 |127:60 |126:90
69M |Cs |[Ba La| Hf| Ta W I o TYRRS PO
goft - 132-90|137-34 | 138-91| 178-49| 180-95| 18385 1902 1922 19509
- fgdm Au| Hg(Tl Pb - |Bi
it - | 196-97| 200-59]204-37 |207-19 [208-98
31/3 7
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16. (a)

(b)

(a)

(b)
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waﬁmmﬁf@qa}
() W 1A aad 3 R |
Gi) W VI T s 2 F § |
frfafead & faw ¥ gamu
() g I 3RS
(i) S FH FEEES

aed Rl % T VI H Feee Y, T WA S9HH 58.93 €, e S
WH] SAHE 58717, W Ugd I W@l T ¢ ?

ifeem & sfafies 37 Q o aw & AW fafen S @i Aeels & S
aed gRolt # feh @ Sied & a1 g |

Li, Na G41-K & R SAMI & ITEM &6 Li 791 K & S{6d T0] S99
Wﬁﬁqaﬁiwﬁwmﬁimgwmdﬁmwg!wmm
frrt T freRd @1 SeoE FINT |

Jrerar
T e @ e @ w § 7
smad grolt & fafor ) 99 ASelis g HIAIT U @ Hi9evs o= 4 2
T=elih A T 37ad el § 3 e wWe w& v fw 7 2
Il F eed 9roft § difeam, ﬁmmmﬁﬁ@mﬁ@rmaﬁ'@aﬁr
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HR0T PR SR R @ TR O e TOEE 0 96 8§ SR O
& W W W ? A W A I i |

What is meant by dispersion of white light ? Describe the formation of rambow in
the sky with the help of a diagram.

What is hypermetropia ? Draw ray diagrams to show the image formatwn of an
object by :

(i) Hypermetropic eye _
(ii) Correction made with a suitable lens for hypermetropic eye.
OR
Give reasons for the following :
(i)  Colour of the clear sky is blue.
(ii) The suﬁ can be seen about two minutes before actual sunrise.
(iii) We Icannot see an object clearly if it is placed very close to the eyes.

What is Presbyopia ? Write two causes of this defect.




17.

18.

19.

20.

21.

(37) WW%W@W&FW% 7»611(@@{15;%%&%!&?3383&@
& U FifT | .
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() gl 9 Fw 97 5N
(i) S9IH <9 ZN LG AT 47 F HAEA B W
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(31) frafafes 3 fou sru fafae .
6w S G e
(i) fg&%ﬂﬂﬁﬁmméﬁ%m@waﬁ{ﬂzﬂﬁﬁ@ﬁ@ﬁéﬁm
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(@) w-gEfe Y F40 g ¢ 2 39 A9 & & FR ffan |

.SECTION B
WOl &

How do autotrophs obtain CO, and N, to make their food ?

@A S ASH a9 & faT co, U N, H WG FW HFd § 2

Which .one of the following gases is the major constituent of biogas ?
Carbon rhonoxide, Hydrogen, Methane, Carbon dioxide .
frafafed # @ & & 9 aEEE & ge saEd § 2
. FEA AFEEEE, ERSNH, "9, FE9 SEeuEs

What is the effect of DNA copying which is not perfectly accurate on the reproductmn
process ?

WmﬁDNAHH@Hﬁdmﬂq&%iuid:wﬁqﬁ%mwwﬁm%? 

List any four characteristics of biogas on account of which it is considered an ideal fuel.
it # FE AR Rt @ I BT S BROT U SEY A S
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Discuss one limitation each for the extracting of energy from :

(a) winds

(b)  tides.
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What are fossils ? What do they tell about the process of evolution ?

SETeH F1 Bd & 2 39 [ WehH & He" W ol S WI| et g 2

Write one function each of the .following components of the transport system in human

beings :

(a) Blood vessels

(b) Blood platelets

(¢c) Lymph

(d) Heart
Wﬁwm%ﬁmﬁﬁﬁmm@@?mm

- (3) R arfged
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(a) In the human body what is the role of (i) seminal vesicles and (ii) prostate gland ?
(b) List two functions performed by testes in human beings.

(%) WWﬁ(l)Wmﬁr(u)ﬁ@Eaﬁmwmamg7
@) Wﬁgﬂm%awﬁﬁfrﬁﬂl

How is ozone formed in the upper atmosphere ? Why is damage to ozone layer a cause of

“concern to us ? What causes this damage ?

qlguusmﬁimuﬂmﬁ‘aﬁsﬂqﬁaﬂﬁ"{%?aﬁﬁ’—rmaﬁ&iﬁmmﬁ"ﬂr?ﬂ
fowa 0 & 7 ¥9 &fq & FRO FE 2 -

(a) Name two different ways in which glucose is oxidised to provide energy in various -
organisms.

(b) Write any two differences between the two ways of oxidation of glucose in
organisms.

(3) .T%rfﬂ‘ar\mmﬁ*qﬁlﬂﬁiﬂmﬁmmmmaﬁaﬁﬁﬁﬁfﬂﬁréﬁw-

fafET |
@) e # o F S F A i % die e @ eR fafau |
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27. (a) Draw the structure of a neuron and label the following on it :
Nucleus, Dendrite, Cell body and Axon
(b) Name the part of neuron : :

(i) where information is acquired.
(ii) ‘through which information travels as an.electrical impulse.

OR

(a) What is (i) phototropism and (ii) geqtrépism ? With labelled diagrams describe an
activity to show that light and gravity change the direction that plant parts grow in.

(b)  Mention the role of each of the following plant hormones :
i) Auxin ‘
(i) Abscisic acid
(37) dffE & 9@ = Ty dEe 39 ® fefafad &1 9mitea ST .
@) dfEEfE % 39 9 % AW fara
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(@) ffafea grey g9ET &1 gfier fafag .
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